MINUTES OF THE BOARD OF SUPERVISORS COUNTY OF RIVERSIDE, STATE OF CALIFORNIA



9.1

On motion of Supervisor Ashley, seconded by Supervisor Stone and duly carried, IT WAS ORDERED the reading being waived, that an ordinance bearing the following title, is adopted:

Roll Call:

Ayes:

Buster, Stone, Benoit and Ashley

Nays:

None

Absent:

xc: Auditor, MC, COB

Tavaglione

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE, AMENDING ORDINANCE NO.

860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE
OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR CONTROLLER

I hereby certify that entered on	the foregoing is a full true, and correct copy of a July 27, 2010 of Su	n order made and pervisors Minutes.
(seal)	WITNESS my hand and the seal of the Board of Dated: July 27, 2010 Kecia Harper-Ihem, Clerk of the Board of Super and for the County of Riverside, State of Califor By: AGENDA NO. 9.1	visors, in

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE

AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows:

Section 1. Section 1. of Ordinance 860 is amended to read as follows:

"Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:

WARRANTS, JOURNAL PROCESSING, AND SERVICES

Internal Auditing (per hour)	\$76.23
Copies - Color (County, Special District, Public) (each)	\$0.17
Copies - B&W (County, Special District, Public) (each)	\$0.02
Sheriff Writs (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Spousal Support Garnishment (each)	\$1.50
Medical Support Garnishment (each)	\$1.50
Child Support Garnishment (each)	\$1.50
Special District Payroll Warrant (non-County) (each)	\$8.64
Special District Off-Cycle Warrant (each)	\$37.07
County/Flood Payroll Warrants/Direct Deposit (each)	\$5.10
Special District Processing of Journal Vouchers (per line)	\$.80
Special District County B Warrant (each)	\$4.54

07.27.10

9.1

1		Property Tax Time-Share Assessment (per assessment)	\$2.62
2		Property Tax Fixed Charge Transaction (per parcel)	\$0.17
3		Property Tax Fixed Charge Correction (each)	\$49.38
4		Property Tax Fixed Charge Correction (per batch)	148.13
5		Property Tax Fixed Charge Enrollment/Correction (per batch) \$	103.49
6		Property Tax Redevelopment Service (per hour) \$	155.92
7		Property Tax General Services Fee (per hour)	\$87.05"
8	Section 2.	This ordinance shall take effect thirty (30) days after its adoption.	
9		BOARD OF SUPERVISORS OF THE COU	
10		OF RIVERSIDE, STATE OF CALIFORNIA	1
11		By: Many Aslele	ion
12		Chairman	
13	ATTEST:	Marion Ashley	
14	Kecia Harper-Ihem CLERK OF THE BOARD:		
15	KAMINAILAM		
16	By: Deputy		
17	119paty		
18	(SEAL)		
19			•
20			
21			
22			
23			
24			
25			
26			
27			

28

1		
2		
3		·
4		·
5		·
6		
7		
8		
9		
10		
11		
12		
13	STATE OF CALIFORNIA) ss	
14	COUNTY OF RIVERSIDE)	*.
15		
16 17	I HEREBY CERTIFY that at a regular meeting of the Board of Supervisors held on July 27, 2010, the foregoing ordinance consisting of 2 Sections was following vote:	of said county adopted by the
18		
19	AYES: Buster, Stone, Benoit, and Ashley	
20	NAYS: None	
21	ABSENT: Tavaglione	
22		
23	DATE: July 27, 2010 KECIA HARPER-II Clerk of the Board	1EM
24	BY:	auth
25	Deput	T y
26	SEAL	
27		
28		Item 9.1

SUBMITTAL TO THE BOARD OF SUPERVISORS COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

355



FROM: County Auditor-Controller

SUBMITTAL DATE:

June 17, 2010

SUBJECT: Introduction and adoption of Ordinance No. 860.6 of the County of Riverside amending Ordinance 860.5 related to establishing fees of the County Auditor Controller.

RECOMMENDED MOTION:

- 1. That the Board of Supervisors introduce and set for hearing adoption of Ordinance 860.6 of the County of Riverside pertaining to an amendment of Ordinance 860.5 adopted March 2, 2010, for fees charged for services provided by the County Auditor-Controller.
- 2. Upon the close of the hearing, that the Board adopt Ordinance 860.6.

BACKGROUND: In accordance with the provision of Government Code Section 54985, this amendment revises the current fees for the issuance of warrants, journal processing and services provided by the County Auditor-Controller (see Attachment A).

		Bruce	Linear	C	
			YCAID ASST	AUD CONT	<u>e</u>
		ROBERT E. BYR County Auditor-C			
FINANCIAL	Current F.Y. Total Cost:	\$0	In Current Year Bud	iget:	No
DATA	Current F.Y. Net County Cost:	-0-	Budget Adjustment	::	No
DATA	Annual Net County Cost:	-0-	For Fiscal Year:		
SOURCE OF FU	JNDS: N/A			Positions To Be Deleted Per A-30	
				Requires 4/5 Vote	
C.E.O. RECOM	AP	PROVE BY	Rob Rockwell	thell	-
County Execut	ive Office Signature				

MINUTES OF THE BOARD OF SUPERVISORS

On motion of Supervisor Buster, seconded by Supervisor Stone and duly carried, IT WAS ORDERED that the above matter is approved as introduced with waiver of reading and is set for public hearing July 27, 2010 at 9:30 a.m.

Ayes:

Buster, Tavaglione, Stone and Benoit

Nays:

None

Absent:

Ashley

Date:

June 29, 2010

XC:

Auditor COB

Kecia Harper-Ihem

Clerk of the Board

Prev. Agn. Ref.: 9.1 of 3/2/10 2.7 of 6/8/10

| District: ALL | Agenda Number:

X TACHMENTS FILED WITH THE BOARPIsent Dep't Recomm.:

Policy

 \boxtimes

FORM APPROVED COUNTY COUNSE!

Form 11 – Introduction and adoption of Ordinance No. 860.6 of the County of Riverside amending Ordinance 860.5 related to establishing fees of the County Auditor-Controller June 17, 2010
Page 2

BACKGROUND continued:

Ordinance 860.6 includes rates the Auditor-Controller will charge for 20 of the services provided to county departments, taxing agencies outside the county (example cities and redevelopment agencies), special districts (example water districts); and, employees and the general public (for garnishments and similar services) as follows:

Affected Agencies	Number of Rates
Taxing Agencies (excluding county)	6
Employees and the general public	8
Special Districts	4
County Departments	2

The rate that will be charged to all county departments is for payroll warrants and direct deposits (see Attachment B). The internal audit rate, which will be charged to the Tax Collector, is for the required quarterly verification of the assets held in the treasury.

There will be increases to current charges for five of the Auditor-Controller's audited rates, particularly for property tax services where we were not fully recovering our cost; additionally, there will be decreases to six rates and no change to an additional eight rates. One new rate for general property tax services will be introduced this year. The Auditor-Controller will also discontinue the rate for an overnight rush of county warrants.

The property tax general services fee is intended to recover costs associated with researching and providing significant amounts of information requested by consulting agencies. The rate will not be charged to taxing agencies or for requests that fall under the California Public Records Act.

These changes are primarily the result of restructuring, auditing rather than reviewing processes and cost-cutting efficiencies.

Attachment "A"

Fees Charged for Services

		Proposed	
	FY 09-10	FY 10-11	<u>Change</u>
Special District County B Warrant (each)	\$ 4.35	\$ 4.54	\$ 0.19
Special District Processing of Journal Vouchers (per line)	1.06	0.80	-0.26
County/Flood Payroll Warrant/Direct Deposit (each)	5.38	5.10	-0.28
Special District Off-Cycle Warrant (each)	37.07	37.07	0.00
Special District Payroll Warrant (non-County) (each)	8.48	8.64	0.16
Child Support Garnishment (each)	1.50	1.50	0.00
Medical Support Garnishment (each)	1.50	1.50	0.00
Spousal Support Garnishment (each)	1.50	1.50	0.00
Earnings Withholding Orders (each)	1.50	1.50	0.00
Sheriff Writs (each)	1.50	1.50	0.00
Copies – B&W (County, Special District, Public) (each)	0.02	0.02	0.00
Copies - Color (County, Special District, Public) (each)	0.17	0.17	0.00
Internal Auditing (per hour)	82.67	76.23	-6.44
Property Tax Time-Share Assessment (per assessment)	3.01	2.62	-0.39
Property Tax Fixed Charge Transaction (per parcel)	0.06	0.17	0.11
Property Tax Fixed Charge Correction (each)	42.16	49.38	7.22
Property Tax Fixed Charge Correction (per batch)	126.47	148.13	21.66
Property Tax Fixed Charge Enrollment/Correction (per bat	ch) 165.77	103.49	-62.28
Property Tax Redevelopment Service (per hour)	163.49	155.92	-7.57
Property Tax General Service Fee (per hour)	0.00	87.05	87.05

Attachment "B"

County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known In FY10; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptID Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	Trans Rate	Charge Per Pay Period	No. of Pay Periods Charged	Annual Charge FY 2010/11
10001	Board of Supervisors	55	\$5.10	\$280.53	26	\$7,293.76
10002	Clerk of the Board	8	5.10	40.80	26	1,060.91
11001	Executive Office	27	5.10	137.71	26	3,580.57
11015	County Free Library	1	5.10	5.10	26	132.61
11050	Natl Pollutant Dschrg Elim Sys	2	5.10	10.20	26	265.23
11092	OASIS Financials Production	40	5.10	204.02	26	5,304.55
11093	OASIS HRMS Production	20	5.10	102.01	26	2,652.28
11301	Human Resources	169	5.10	861.99	26	22,411.74
11303	Air Quality Division	3	5.10	15.30	26	397.84
11307	Property Insurance	1	5.10	5.10	26	132.61
11308	Workers Compensation	52	5.10	265.23	26	6,895.92
11309	Malpractice Insurance	2	5.10	10.20	26	265.23
11310	Liability Insurance	30	5.10	153.02	26	3,978.42
11312	Disability Insurance	1	5.10	5.10	26	132.61
11313	Safety Loss Control	18	5.10	91.81	26	2,387.05
11318	Temporary Assistance Pool	1,098	5.10	5,600.38	26	145,610.00
11320	Exclusive Provider Option	35	5.10	178.52	26	4,641.48
11322	Employee Assistance Program	7	5.10	35.70	26	928.30
11329	Occupational Health & Wellness	18	5.10	91.81	26	2,387.05
11501	CFD Assessment Dist Admin	5	5.10	25.50	26	663.07
12001	Assessor	206	5.10	1,050.71	26	27,318.45
12002	Clerk Recorder	171	5.10	872.19	26	22,676.97
12003	Records Management & Archives Program	25	5.10	127.51	26	3,315.35
12004	CREST	7	5.10	35.70	26	928.30
13001	Auditor-Controller	72	5.10	367.24	26	9,548.20
13002	Internal Audits	14	5.10	71.41	26	1,856.59
13003	Payroll Services	23	5.10	117.31	26	3,050.12
14001	Treasurer-Tax Collector	108	5.10	550.86	26	14,322.30
15001	County Counsel	69	5.10	351.94	26	9,150.36
17001	Registrar of Voters	41	5.10	209.12	26	5,437.17
19001	EDA Agency Administration/CDBG Home	165	5.10	841.59	26	21,881.28
	Workforce Development	138	5.10	703.87	26	18,300.71
19004	Housing Authority (County)	97	5.10	494.75	26	12,863.54
19107	County Airports	10	5.10	51.01	26	1,326.14
19201	Fair and Nat'l Date Festival	10	5.10	51.01	26	1,326.14
19301	Edward Dean Museum	3	5.10	15.30	26	397.84
22001	District Attorney	804	5.10	4,100.83	26	106,621.53
23001	Child Support Services	363	5.10	1,851.49	26	48,138.83
	Public Defender	283	5.10	1,443.45	26	37,529.72
25001	Sheriff Administration	51	5.10	260.13	26	6,763.31
25002	Sheriff Administration	344	5.10	1,754.58	26	45,619.16
	Sheriff Patrol/Anti Drug Abuse Grant	1,811	5.10	9,237.06	26	240,163.68
	Sheriff Corrections	1,308	5.10	6,671.50	26	173,458.91
	Sheriff Court Services	189	5.10	\$964.00	26	\$25,064.02

Attachment "B"

County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known In FY10; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptID Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	Trans Rate	Charge Per Pay Period	No. of Pay Periods Charged	Annual Charge FY 2010/11
25006	CAC Security	2	5.10	10.20	26	265.23
25007	Training Center	60	5.10	306.03	26	7,956.83
25008	RAID	1	5.10	5.10	26	132.61
25010	Sheriff Coroner	53	5.10	270.33	26	7,028.53
25011	Public Administraton	16	5.10	81.61	26	2,121.82
25051	Sheriff CAL-ID	27	5.10	137.71	26	3,580.57
26001	Prob Juvenile Hall	440	5.10	2,244.23	26	58,350.09
26002	Probation	355	5.10	1,810.69	26	47,077.92
26007	Probation - Admin & Support	64	5.10	326.43	26	8,487.29
27002	Fire Protection - Forest	169	5.10	861.99	26	22,411.74
27004	Fire Protection - Contract Services	22	5.10	112.21	26	2,917.50
28001	Agricultural Commissioner	54	5.10	275.43	26	7,161.15
29001	Local Agency Formation Comm	5	5.10	25.50	26	663.07
31001	GIS ·	19	5.10	96.91	26	2,519.66
31002	Transportation Land Mgt/Integrated Plan	63	5.10	321.33	26	8,354.67
31003	TLMA Counter Services	16	5.10	81.61	26	2,121.82
31005	Environmental Programs	16	5.10	81.61	26	2,121.82
31101	Building & Safety	47	5.10	239.73	26	6,232.85
31201	Planning	50	5.10	255.03	26	6,630.69
31301	Transportation	327	5.10	1,667.87	26	43,364.73
31302	Surveyor	36	5.10	183.62	26	4,774.10
31303	Crossing Guards	26	5.10	132.61	26	3,447.96
31307	Transportation Equipment	27	5.10	137.71	26	3,580.57
31308	TLMA ALUC	2	5.10	10.20	26	265.23
31401	Code Enforcement	133	5.10	678.37	26	17,637.64
41001	Mental Health Public Guardian	33	5.10	168.32	26	4,376.26
41002	Mental Health Treatment Program	627	5.10	3,198.03	26	83,148.88
41003	Mental Health Detention	53	5.10	270.33	26	7,028.53
41004	Mental Health Administration	171	5.10	872.19	26	22,676.97
41005	Mental Health Substance Abuse	111	5.10	566.16	26	14,720.14
42001	Community Health Agency	660	5.10	3,366.35	26	87,525.14
42002	Calif Childrens Services	155	5.10	790.58	26	20,555.15
42003	CHA - Admin	164	5.10	836.49	26	21,748.67
42004	Environmental Health	164	5.10	836.49	26	21,748.67
42006	Animal Control Services	199	5.10	1,015.01	26	26,390.16
43001	Riverside County Regional Medical Center	2,262	5.10	11,537.40	26	299,972.52
43002	Med Indigent Services Program	31	5.10	158.12	26	4,111.03
43003	Detention Health Systems	100	5.10	510.05	26	13,261.38
45001	Waste Management	205	5.10	1,045.61	26	27,185.84
51001	DPSS Administration	3,144	5.10	16,036.07	26	416,937.93
52001	Local Initiative Admin DCA	23	5.10	117.31	26	3,050.12
52002	DCA-Local Initiative Program	15	5.10	76.51	26	1,989.21
52003	DCA - Other Programs	1	5.10	\$5.10	26	\$132.61
53001	Office on Aging -Title III	164	5.10	836.49	26	21,748.67

Attachment "B"

County/Flood Payroll Transaction Charge FY 2010/11

Note: Rate Based On Number of Employees Paid and Facts Known In FY10; Charge Subject to Change (i.e. Change In Workforce or Payroll Costs)

DeptID Budgetary Level 5	Name	Number of Pay Warrants & Advices Per Pay Period	Trans Rate	Charge Per Pay Period	P	of Pay eriods arged	Annual Charge FY 2010/11
54001	Veterans Services	12	5.10	61.21		26	1,591.37
63001	Cooperative Extension	5	5.10	25.50		26	663.07
72001	Fac Mgmt Administration	60	5.10	306.03		26	7,956.83
72002	Fac Mgmt Custodial/Housekeeping	203	5.10	1,035.41		26	26,920.61
72003	Fac Mgmt Maintenance	163	5.10	831.39		26	21,616.06
72004	Fac Mgmt Real Estate	22	5.10	112.21		26	2,917.50
72005	Fac Mgmt Design & Construction	29	5.10	147.92		26	3,845.80
72006	Fac Mgmt Energy Management	1	5.10	5.10		26	132.61
72007	Fac Mgmt Parking	20	5.10	102.01		26	2,652.28
72011	Fac Mgmt Facilities Project Group	11	5.10	56.11		26	1,458.75
73001	Purchasing	22	5.10	112.21		26	2,917.50
73003	Printing Services	22	5.10	112.21		26	2,917.50
73004	Supply Services	16	5.10	81.61		26	2,121.82
73005	Fleet Services	60	5.10	306.03		26	7,956.83
73006	Central Mail	10	5.10	51.01		26	1,326.14
74001	I.T D.P.	181	5.10	923.20		. 26	24,003.11
74003	RCIT 800 Mhz Radio Project	11	5.10	56.11		26	1,458.75
91520	CSA 152 - NPDES	28	5.10	142.81		26	3,713.19
93110	Reg Parks & Open Space Dist	119	5.10	606.96		26	15,781.05
93520	RCA - Operations	10	5.10	51.01		26	1,326.14
93800	RC Children & Families First Com	. 28	5.10	142.81		26	3,713.19
94300	WRMD Operation	42	5.10	214.22		26	5,569.78
94720	Flood Control Administration	230	5.10	1,173.12		26	30,501.18
98510	IHSS Public Authority - Admin	. 3	5.10	15.30		26	397.84
98511	IHSS Public Auth-Registry/ Clerical	21	5.10	107.11		26	2,784.89
98512	IHSS Public Auth-Operations	2	5.10	10.20		26	265.23



OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER

P.O. BOX 1147, 4080 LEMON STREET RIVERSIDE, CA 92502-1147 PHONE: (951) 955-1060

PHONE: (951) 955-1060 FAX: (951) 955-1071 KECIA HARPER-IHEM
Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

July 8, 2010

PRESS ENTERPRISE ATTN: LEGALS P.O. BOX 792 RIVERSIDE, CA 92501

E-MAIL: legals@pe.com

FAX: 951-368-9018

RE: NOTICE OF PUBLIC HEARING: INTRODUCTION OF ORDINANOR NO. 860.6

To Whom It May Concern:

Attached is a copy for publication in your newspaper for **ONE (1) TIME** on Sunday: **July 11, 2010**.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE:

PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil

Cecilia Gil, Board Assistant to KECIA HARPER-IHEM, CLERK OF THE BOARD

3.18 of 06-29-10

7179 00

Gil, Cecilia

From:

PE Legals [legals@pe.com]

Sent:

Thursday, July 08, 2010 8:31 AM

To:

Gil. Cecilia

Subject:

RE FOR PUBLICATION: INTRO OF ORD: NO. 860.6

Baceived for publication on July 1

Thank You! ~Maria G. Tinajero • The Press Enterprise Legal Adv. • 1.800.880.0345 (Phone) • 951.368.9018 (fax) • Please Note: Deadline is 10:30 AM two (2) business days prior to the date you would like to publish.

From: Gil, Cecilia [mailto:CCGIL@rcbos.org]
Sent: Thursday, July 08, 2010 8:03 AM

To: PE Legals

Subject: FOR PUBLICATION: INTRO OF ORD. NO. 860.6

Good Morning again! Attached is a Notice of Public Hearing, for publication on Sunday, July 11, 2010. Please confirm. THANK YOU!

Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE. PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.



OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER P.O. BOX 1147, 4080 LEMON STREET RIVERSIDE, CA 92502-1147

PHONE: (951) 955-1060 FAX: (951) 955-1071 KECIA HARPER-IHEM
Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

July 8, 2010

THE DESERT SUN ATTN: LEGALS P.O. BOX 2734 PALM SPRINGS, CA 92263

E-MAIL: legals@thedesertsun.com

FAX: 1760-778-4731

RE: NOTICE OF PUBLIC HEARING: INTRODUCTION OF ORD. NO. 860.6

To Whom It May Concern:

Attached is a copy for publication in your newspaper for **ONE (1) TIME** on **Sunday**: **July 11, 2010**.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE: PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil

Cecilia Gil, Board Assistant to KECIA HARPER-IHEM, CLERK OF THE BOARD

3.18 of 06-29-10

Gil, Cecilia

From:

Moeller, Charlene [CMOELLER@palmspri.gannett.com]

Sent:

Thursday, July 08, 2010 8:47 AM

To:

Gil, Cecilia

Subject:

RE: FOR PUBLICATION: INTRO OF ORD. NO. 860.6

Ad received and will publish on date(s) requested.

Charlene Moeller
Public Notice Customer Service Rep.
The Desert Sun Newspaper
750 N. Gene Autry Trail, Palm Springs, CA 92262
(760) 778-4578, Fax (760) 778-4731
Desert Sun legals@thedesertsun.com
& Desert Post Weekly dpwlegals@thedesertsun.com

The Coachella Valley's #1 Source in News & Advertising! Visit us at mydesert.com

NOTE: Starting on March 29th, there will be a \$10 affidavit processing fee added to the cost of each Public Notice

From: Gil, Cecilia [mailto:CCGIL@rcbos.org] **Sent:** Thursday, July 08, 2010 8:04 AM

To: tds-legals

Subject: FOR PUBLICATION: INTRO OF ORD. NO. 860.6

Good Morning again! Attached is a Notice of Public Hearing, for publication on Sunday, July 11, 2010. Please confirm. THANK YOU!

Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE. PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.

NOTICE OF PUBLIC HEARING BEFORE THE BOARD OF SUPERVISORS OF RIVERSIDE COUNTY

NOTICE IS HEREBY GIVEN that a public hearing at which all interested persons will be heard, will be held before the Board of Supervisors of Riverside County, California, on the 1st Floor Board Chambers, County Administrative Center, 4080 Lemon Street, Riverside, on **Tuesday**, **July 27**, **2010 at 9:30 a.m.** to consider adoption of the following:

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE

AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows: Section 1. Section 1. of Ordinance 860 is amended to read as follows:

"Section 1.

The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:

WARRANTS, JOURNAL PROCESSING, AND SERVICES \$4.54 Special District County B Warrant (each) Special District Processing of Journal Vouchers (per line) \$.80 \$5.10 County/Flood Payroll Warrants/Direct Deposit Special District Off-Cycle Warrant (each) \$37.07 Special District Payroll Warrant (non-County) (each) \$8.48 Child Support Garnishment (each) \$1.50 Medical Support Garnishment (each) \$1.50 \$1.50 Spousal Support Garnishment (each) \$1.50 Earnings Withholding Orders (each) Sheriff Writs (each) \$1.50 Copies - B&W (County, Special District, Public) (each) \$0.02 Copies - Color (County, Special District, Public) (each) \$0.17 \$87.23 Internal Auditing (per hour) \$2.62 Property Tax Time-Share Assessment (per assessment) Property Tax Fixed Charge Transaction (per parcel) \$0.17 \$49.38 Property Tax Fixed Charge Correction (each) Property Tax Fixed Charge Correction (per batch) \$148.13 Property Tax Fixed Charge Enrollment/Correction (per batch) \$103.49 \$155.92 Property Tax Redevelopment Service (per hour) Property Tax General Services Fee (per hour) \$83.86"

Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Any person affected by the above matter(s) may submit written comments to the Clerk of the Board before the hearing or may appear and be heard in support or opposition to the project at the time of the hearing. If you challenge the above item(s) in court, you may be limited to raising only those issues you or someone else raised at the public hearing described in this notice, or in written correspondence, to the Board of Supervisors at, or prior to, the public hearing.

Please send all written correspondence to: Clerk of the Board, 4080 Lemon Street, 1st Floor, Post Office Box 1147, Riverside, CA 92502-1147

Dated: July 8, 2010

Kecia Harper-Ihem, Clerk of the Board

By: Cecilia Gil, Board Assistant

THE PRESS-ENTERPRISE PEcom

Legal Advertising Invoice

REMITTANCE ADDRESS POST OFFICE BOX 12009 RIVERSIDE, CA 92502-2209 FAX (951) 368-9026

9

BILLING PERIOD 07/11/10 - 07/12/10

ADVERTISING/CLIENT NAME 12 BOARD OF SUPERVISORS

BILLING DATE 07/12/10

FOR BILLING INFORMATION CALL

@ PAGE NO

1

(951) 368-9713 |* UNAPPLIED AMOUNT|@

TERMS OF PAYMENT

239.20

Due Upon Receipt

BILLED ACCOUNT NAME AND ADDRESS

BOARD OF SUPERVISORS COUNTY OF RIVERSIDE P.O. BOX 1147 RIVERSIDE CA 92502

® BILLED ACCOUNT NUMBER | REP NO

045202

LE04

Statement #:

56550449 Amount Paid \$

You'r Check #

PLEASE DETACH AND RETURN UPPER PORTION WITH YOUR REMITTANCE

	Р	LEASE DETACH AND RETURN UPPER PORTION	The second secon	
① DATE	1 REFERENCE	® ® DESCRIPTION-OTHER COMMENTS/CHARGES	© SAU SIZE © BILLED UNITS ® RATE	© GROSS AMOUNT @ NET AMOUNT
07/11	4206845 CO	INTRO OF ORD NO 860.6 Class : 10 Ctext Ad# 10325854 Placed By : Cecilia Gil	184 L 1.30	239.20
			Audito/Conti 3.18 ef 06/2	RECEIVED RIVERSIDE COUNTY CLERK/BOARD OF SUPERVISORS 2010 JUL 19 PM 3: 56

PLEASE PAY THIS AMOUNT 239.20

THE PRESS-ENTERPRISE P.O. BOX 12009
RIVERSIDE, CA 92502-2209
TELEPHONE (951) 368-9711
(951) 368-9720 [1951) 368-9713

ADVERTISING STATEMENT/INIVOICE

* LINAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

	(001) 00	30 0720 [[(001) 000 0710	STATEMENTAIN	VOICE ONATTERED A	3000,1107,112 1110	20323 111 10 1712 7 1110 0 111 2 111
STATEMENT NUMBER	25		ADVERTISER II	NFORMATION		
and the state of t	1 BILLING	FERIOD 6	BILLED ACCOUNT NUMBER	OADVERTISER/CLIENT NUMBER	THE CHARGE SERVICE OF THE PROPERTY OF THE PARTY OF THE PA	RTISER/CLIENT NAME
56550449	07/11/10 -	07/12/10	045202		BOARD OF	SUPERVISORS
	1					

THE PRESS-ENTERPRISE

3450 Fourteenth Street Riverside CA 92501-3878 951-684-1200 951-368-9018 FAX

PROOF OF PUBLICATION (2010, 2015.5 C.C.P.)

Press-Enterprise

PROOF OF PUBLICATION OF

Ad Desc.: INTRO OF ORD NO 860.6

I am a citizen of the United States. I am over the age of eighteen years and not a party to or interested in the above entitled matter. I am an authorized representative of THE PRESS-ENTERPRISE, a newspaper of general circulation, printed and published daily in the County of Riverside, and which newspaper has been adjudicated a newspaper of general circulation by the Superior Court of the County of Riverside, State of California, under date of April 25, 1952, Case Number 54446, under date of March 29, 1957, Case Number 65673 and under date of August 25, 1995, Case Number 267864; that the notice, of which the annexed is a printed copy, has been published in said newspaper in accordance with the instructions of the person(s) requesting publication, and not in any supplement thereof on the following dates, to wit:

07-11-10

I Certify (or declare) under penalty of perjury that the foregoing is true and correct.

Date: Jul. 11, 2010 At: Riverside, California

BOARD OF SUPERVISORS

P.O. BOX 1147 COUNTY OF RIVERSIDE RIVERSIDE CA 92502

Ad #: 10325854

PO #:

Agency #:

Ad Copy:

NOTICE OF PUBLIC HEARING BEFORE THE BOARD OF SUPERVISORS OF RIVERSIDE COUNTY

NOTICE IS HEREBY GIVEN that a public hearing at which all interested persons will be heard, will be held before the Board of Supervisors of Riverside County, California, on the 1st Floor Board Chambers, County Administrative Center, 4080 Lemon Street, Riverside, on

Administrative Center, 4080 Lemon Street, Riverside, on Tuesday, July 27, 2010 at 9:30 a.m. to consider adoption of the following:

ORDINANCE NO. 860.6

AN ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Rest of Superior of the County of Priverside of

The Board of Supervisors of the County of Riverside or-dains as follows: Section 1. Section 1. of Ordinance 860 is amended to

Section 1. of Ordinance 860 is amended to

Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:
WARRANTS, JOURNAL

PROCESSING, AND SERVICES	:
Special District County B Warrant	\$4.54
	\$4.54
(éach)	\$.80
Special District Processing of Journal	J .00
Vouchers (per line) County/Flood Payroll Warrants/Direct	\$5.10
Deposit	\$3.10
Special District Off-Cycle Warrant	\$37.07
(each)	40
Special District Payroll Warrant (non-	\$8.48
County) (each)	••••
Child Support Gamishment (each)	\$1.50
Medical Support Garnishment (each)	\$1.50
Spousal Support Garnishment (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Sheriff Writs (each)	\$1.50
Copies - B&W (County, Special Dis-	\$0.02
trict, Public) (each)	
Copies - Color (County, Special Dis-	\$0.17
trict, Public) (each)	
Internal Auditing (per hour)	\$87.23
Property Tax Time-Share Assessment	\$2.62
(per assessment)	40.37
Property Tax Fixed Charge Transac-	\$0.17
tion (per parcel)	£ 40 30
Property Tax Fixed Charge Correction	\$49.38
(each)	\$148.13
Property Tax Fixed Charge Correction	\$140.13
(per batch) Property Tax Fixed Charge Enroll-	\$103.49
ment/Correction (per batch)	\$100.47
Property Tax Redevelopment Service	\$155.92
(per hour)	4.00.72
Property Tax General Services Fee	\$83.86"
(per hour)	

Section 2.This ordinance shall take effect thirty (30) days after its adoption.

days after its adoption.

Any person affected by the above matter(s) may submit written comments to the Clerk of the Board before the hearing or may appear and be heard in support or opposition to the project at the time of the hearing. If you challenge the above item(s) in court, you may be limited to raising only those issues you or someone else raised at the public hearing described in this notice, or in written correspondence, to the Board of Supervisors at, or prior to, the public hearing.

Places sand all written correspondence to: Clerk of the

Please send all written correspondence to: Clerk of the Board, 4080 Lemon Street, 1st Floor, Post Office Box 1147, Riverside, CA 92502-1147

Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

7/11

mydesert.com

750 N. Gene Autry Trail Palm Springs, CA 92262 Billing Inquiries: (866) 875–0854 Main Office: (760) 322–8889

ADVERTISING INVOICE/STATEMENT

Make Checks payable to DESERT SUN PUBLISHING CO. P.O. Box 677368 Dallas, TX 75267–7368 A finance charge of 1.5% per month (18% Annually) will be added to balances not paid by the 20th.

115

RIVO690000038075540140900810826

RIVERSIDE COUNTY-BOARD OF SUP. PO BOX 1147 **RIVERSIDE CA 92502-1147**

PLEASE RETURN THIS TOP SECTION WITH PAYMENT IN THE ENCLOSED ENVELOPE AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

Customer No.	Invoice No.
RIV069	0003807554
For the Period	Thru
06/28/10	08/01/10
Due Date	Amount Due
Due Date 08/16/10	Amount Due 14,090.08

														_
Date	EDT	Class		Description		Times Run	Col	Depth	Total Size	Rat	e		Amount	
0628 0702 0702 0630 0701 0701 0711 0714 0724 0725 0725 0725 0731	CLS CLS CLS CLS CLS CLS CLS CLS	0001 0001 0001 0001 0001 0001 0001 000	PAYMEN PAYMEN CECILIA SANDI S CECILIA CECILIA CECILIA	NO 2914 NO CHLEMNO 2914 NO 3075 NO 3076 NO GIL AD CONTIL NO 3254 BC NO 3265 NO 3266 NO 3267 NO 3371 NO 3371 NO 3371 NO	DU DARD OF DTICE O IS BOARD OF DTICE O ENT IS EP DARD OF DTICE O	2 2 2 2 2 1 1 2 2 2 2 2 2	2 2 2 10 10 2 2 2 2 2 2 2 2 2 2 2 2 2 2	691.00 81.00 92.00 217.00 21.00 14.00 327.00 132.00 71.00 204.00	2612.00 2764.00 324.00 368.00 210.00 140.00 1308.00 528.00 620.00 284.00 716.00				17,347.09 6,732.91- 5,428.42- 1,099.98 1,163.06 150.46 168.72 376.22 2,450.20 1,626.80 558.82 235.12 273.30 133.86 354.64 313.14	
Ci	urrent	Ove	r 30 Days	Over 60 Days	Over 90 Days	Over 120) Days	Total Due				1		
8,9	904.32	4,	996.26	.00	.00	189	.50	14,090.08			20			
Contr	act Type	Cont	ract Qnty.	Expiration Date	Current Usage	Total U	Jsed	Quan	tity Remai	ning		Sa	alesperson	
											N	VIC	DELLER	
											1	1		-

The Advertiser shall make payment within 15 days of the billing date indicated on Company's statement, and, in the event that it fails to make payment within such time, Company may reject advertising copy and / or immediately cancel this contract and Advertiser agrees to indemnify Company for all expenses incurred in connection with the collection of amounts payable under this contract, including but not limited to collection fees, attorney's fees and court costs. If this agreement is cancelled due to Advertiser's failure to make timely payment, Company may rebill the Advertiser for the outstanding balance due at the open or earned contract rate, whichever is applicable.

TO ENSURE PROPER CREDIT, PLEASE RETURN THE TOP SECTION AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

Customer Number	Name	Invoice Number	Amount Paid
RIV069	RIVERSIDE COUNTY-BOARD OF SUP.	0003807554	

THE DESERT SUN PUBLISHING CO. ADVERTISING INVOICE/STATEMENT

3.18 of 06/29/10

The Desert Sun 750 N Gene Autry Trail Palm Springs, CA 92262 760-778-4578 / Fax 760-778-4731

State Of California ss: County of Riverside

Advertiser:

RIVERSIDE COUNTY-BOARD OF SUP. 4080 LEMON ST RIVERSIDE 925013

2000214468

I am over the age of 18 years old, a citizen of the United States and not a party to, or have interest in this matter. I hereby certify that the attached advertisement appeared in said newspaper (set in type not smaller than non pariel) in each and entire issue of said newspaper and not in any supplement thereof on the following dates, to wit:

Newspaper:

.The Desert Sun

7/11/2010

I acknowledge that I am a principal clerk of the printer of The Desert Sun, printed and published weekly in the City of Palm Springs, County of Riverside, State of California. The Desert Sun was adjudicated a newspaper of general circulation on March 24, 1988 by the Superior Court of the County of Riverside, State of California Case No. 191236.

I declare under penalty of perjury that the foregoing is true and correct. Executed on this 11th day of July, 2010 in Palm Springs, California.

Declarant

Certificate of Publication

NOTICE OF PUBLIC HEARING BEFORE THE BOARD OF SUPERVISORS OF RIVERSIDE COUNTY

NOTICE IS HEREBY GIVEN that a public hearing at which all interested pelsons will be heard, will be held before the Board of Supervisors of Riverside County, California, on the 1st Floor Board Chambers, County Administrative Center, 4080 Lemon Street, Riverside, on Tuesday, July 27, 2010 at 9:30 a.m. to consider adoption of the following:

ORDINANCE ND. 860.6
AN ORDINANCE OF THE COUNTY OF RIVERSIDE AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEEB FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows:

Section 1. Section 1. of Ordinance 860 is amended to read as follows:

"Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor Controller:

vided by the County Auditor Controller:

WARRANTS, JOURNAL PROCESSING, AND SERVICES
Special District County B Warrant (each) \$4.54
Special District Processing of Journal Vouchers (per line)
County/Flood Payroll Warrants/Direct Deposit County/Flood Payroll Warrant (each) \$37.07
Special District Off-Cycle Warrant (each) \$37.07
Special District Payroll Warrant (non-County) (each)
Child Support Garnishment (each) \$1.50
Medical Support Garnishment (each) \$1.50
Spousal Support Garnishment (each) \$1.50
Spousal Support Garnishment (each) \$1.50
Copies - B&W (County, Special District, Public) (each)
Copies - Color (County, Special District, Public) (each)
Property Tax Time-Share Assessment (per assessment)
Property Tax Fixed Charge Transaction (per parcel)
Property Tax Fixed Charge Correction (each)
Property Tax Fixed Charge Correction (each) cel) Property Tax Fixed Charge Correction (each) \$49.38 Property Tax Fixed Charge Correction (per batch)
Property Tax Fixed Charge Enrollment/Correction (per batch)
\$148.13 Enrollment/Correction (per batch)

(per batch)
Property Tax Redevelopment Service (per hour)
\$155.92

Property Tax General Services Fee (per hour) \$83.86*

Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Any person affected by the above matter(s) may submit written comments to the Clerk of the Board before the hearing or may appear and be heard in support or opposition to the project at the time of the hearing. If you challenge the above item(s) in court, you may be limited to ratising only those issues you or someone else lrafsed at the public hearing described in this notice, or in written correspondence, to the Board of Slupervisors at, or prior to, the public hearing.

Please send all written correspondence to:, Clerk of the Beard, 4080/Lemon Street, 1st Floor, Post Office Box 1147, Riverside, CA 92502-1147

Dated: July 8, 2010 Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

Published: 7/11/10



OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER P.O. BOX 1147, 4080 LEMON STREET

RIVERSIDE, CA 92502-1147 PHONE: (951) 955-1060 FAX: (951) 955-1071

KECIA HARPER-IHEM Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

August 4, 2010

THE PRESS ENTERPRISE

ATTN: LEGALS P.O. BOX 792

RIVERSIDE, CA 92501

FAX: (951) 368-9018

E-MAIL: legals@pe.com

RE:

ADOPTION OF ORDINANCE NO. 860.6

To Whom It May Concern:

Attached is a copy for publication in your newspaper for ONE (1) TIME on Friday, August 6, 2010.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE:

PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN

FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil

Cecilia Gil, Board Assistant to KECIA HARPER-IHEM, CLERK OF THE BOARD

Gil, Cecilia

From:

PE Legals [legals@pe.com]

Sent:

Wednesday, August 04, 2010 8:23 AM

To:

Gil, Cecilia

Subject:

RE: FOR PUBLICATION: ADOPTION OF ORD. NO. 860.6

Received for publication on Aug. 6

Thank You! ~Maria G. Tinajero • The Press Enterprise Legal Adv. • 1.800.880.0345 (Phone) • 951.368.9018 (fax) • Please Note: Deadline is 10:30 AM two (2) business days prior to the date you would like to publish. Additional days required for larger ad sizes.

From: Gil, Cecilia [mailto:CCGIL@rcbos.org]
Sent: Wednesday, August 04, 2010 7:43 AM

To: PE Legals

Subject: FOR PUBLICATION: ADOPTION OF ORD. NO. 860.6

Good Morning! Attached is an Adoption of Ordinance, for publication on Friday, Aug. 6, 2010. Please confirm. THANK YOU!

Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE. PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.



OFFICE OF CLERK OF THE BOARD OF SUPERVISORS 1st FLOOR, COUNTY ADMINISTRATIVE CENTER

P.O. BOX 1147, 4080 LEMON STREET RIVERSIDE, CA 92502-1147

PHONE: (951) 955-1060 FAX: (951) 955-1071

KECIA HARPER-IHEM Clerk of the Board of Supervisors

KIMBERLY A. RECTOR Assistant Clerk of the Board

August 4, 2010

THE DESERT SUN ATTN: LEGALS P.O. BOX 2734 PALM SPRINGS, CA 92263

FAX: (760) 778-4731 E-MAIL: legals@thedesertsun.com

RE: ADOPTION OF ORDINANCE NO. 860.6

To Whom It May Concern:

Attached is a copy for publication in your newspaper for ONE (1) TIME on Friday, August 6, 2010.

We require your affidavit of publication immediately upon completion of the last publication.

Your invoice must be submitted to this office in duplicate, WITH TWO CLIPPINGS OF THE PUBLICATION.

NOTE:

PLEASE COMPOSE THIS PUBLICATION INTO A SINGLE COLUMN

FORMAT.

Thank you in advance for your assistance and expertise.

Sincerely,

Mcgil

Cecilia Gil, Board Assistant to KECIA HARPER-IHEM, CLERK OF THE BOARD

Gil, Cecilia

From:

Moeller, Charlene [CMOELLER@palmspri.gannett.com]

Sent:

Wednesday, August 04, 2010 8:46 AM

To:

Gil, Cecilia

Subject:

REFOR PUBLICATION: ADOPTION OF ORD. NO. 860.6

Adveceived and will publish on date(s) requested!

Charlene Moeller
Public Notice Customer Service Rep.
The Desert Sun Newspaper
750 N. Gene Autry Trail, Palm Springs, CA 92262
(760) 778-4578, Fax (760) 778-4731
Desert Sun legals@thedesertsun.com
& Desert Post Weekly dpwlegals@thedesertsun.com

The Coachella Valley's #1 Source in News & Advertising! Visit us at mydesert.com

NOTE: Starting on March 29th, there will be a \$10 affidavit processing fee added to the cost of each Public Notice

From: Gil, Cecilia [mailto:CCGIL@rcbos.org] Sent: Wednesday, August 04, 2010 7:49 AM

To: tds-legals

Subject: FW: FOR PUBLICATION: ADOPTION OF ORD. NO. 860.6

Good Morning! Attached is an Adoption of Ordinance, for publication on Friday, Aug. 6, 2010. Please confirm. THANK YOU!

Cecilia Gil

Board Assistant to the Clerk of the Board of Supervisors 951-955-8464

THE COUNTY ADMINISTRATIVE CENTER IS CLOSED EVERY FRIDAY UNTIL FURTHER NOTICE. PLEASE CONSIDER THE ENVIRONMENT BEFORE PRINTING.

BOARD OF SUPERVISORS OF THE COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE COUNTY AUDITOR-CONTROLLER

The Board of Supervisors of the County of Riverside ordains as follows: Section 1. Section 1. of Ordinance 860 is amended to read as follows:

"Section 1.

The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:

:	
WARRANTS, JOURNAL PROCESSING, AND SER	VICES
Special District County B Warrant (each)	\$4.54
Special District Processing of Journal Vouchers (per line)	\$.80
County/Flood Payroll Warrants/Direct Deposit	\$5.10
Special District Off-Cycle Warrant (each)	\$37.07
Special District Payroll Warrant (non-County) (each)	\$8.48
Child Support Garnishment (each)	\$1.50
Medical Support Garnishment (each)	\$1.50
Spousal Support Garnishment (each)	\$1.50
Earnings Withholding Orders (each)	\$1.50
Sheriff Writs (each)	\$1.50
Copies – B&W (County, Special District, Public) (each)	\$0.02
Copies – Color (County, Special District, Public) (each)	\$0.17
Internal Auditing (per hour)	\$87.23
Property Tax Time-Share Assessment (per assessment)	\$2.62
Property Tax Fixed Charge Transaction (per parcel)	\$0.17
Property Tax Fixed Charge Correction (each)	\$49.38
Property Tax Fixed Charge Correction (per batch)	\$148.13
Property Tax Fixed Charge Enrollment/Correction (per bate	ch) \$103.49
Property Tax Redevelopment Service (per hour)	\$155.92
Property Tax General Services Fee (per hour)	\$83.86"
This ordinance shall take effect thirty (30) days after its add	option.

Marion Ashley, Chairman of the Board

I HEREBY CERTIFY that at a regular meeting of the Board of Supervisors of said County, held on **July 27, 2010**, the foregoing Ordinance consisting of two (2) sections was adopted by said Board by the following vote:

AYES:

Buster, Stone, Benoit and Ashley

NAYS:

None

ABSENT:

Tavaglione

Section 2.

Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

THE PRESS-ENTERPRISE PEcom

Legal Advertising Invoice

REMITTANCE ADDRESS POST OFFICE BOX 12009 RIVERSIDE, CA 92502-2209 FAX (951) 368-9026

BILLING PERIOD

12

ADVERTISING/CLIENT NAME

08/06/10 - 08/06/10 ⑤ BILLING DATE

BOARD OF SUPERVISORS FOR BILLING INFORMATION CALL

1@ PAGE NO

1

 $\begin{array}{ccc} 08/06/10 & (951) & 368-9713 \\ \text{@ total amount due} & \text{|* unapplied amount|} \text{@} \end{array}$

TERMS OF PAYMENT

232.70

Due Upon Receipt

BILLED ACCOUNT NAME AND ADDRESS

6 BILLED ACCOUNT NUMBER

BOARD OF SUPERVISORS COUNTY OF RIVERSIDE

P.O. BOX 1147

045202

LE04

| REP NO

RIVERSIDE CA 92502

Statement #:

56555161 Amount Paid \$

Your Check #

ACH AND RETURN HOPER PORTION WITH VOLIR REMITTANCE

	P	LEASE DETACH AND RETURN UPPER PORTION '	WITH YOUR R	EMITTANCE	
O DATE	O REFERENCE	● ● Ø DESCRIPTION OTHER COMMENTS OF LARGES	G SAUSIZE G BILLED UNITS	18 HATE Œ	GROSS AMOUNT @ NET AMOUNT
08/06	4215867 CO	ADOPTION OF ORD 860.6 Class: 10 Ctext Ad# 10354736 Placed By: Cecilia Gil	179 L	1.30	232.70
			A(9.1	CO or/.	RECEIVED RIVERSIDE COUNTY CLERK / BO ARD OF SUPERVISOR'S 2010 AUG 12 PH 4: 42

THIS AMOUNT 232.70

THE PRESS-ENTERPRISE PROST 12009
RIVERSIDE, CA 92502-2209
TELEPHONE (951) 368-9711
(951) 368-9720 [] (951) 368-9713

ADVERTISING STATEMENT/INVOICE

* UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

			017(1211)2(1)7(1)		
 2 STATEMENT NUMBER	3 3 3 4 5 5 5 5 5 5 5 5 5 5	PERIOD	ADVERTISER 6 BILLED ACCOUNT NUMBER	INFORMATION • ADVERTISER/CLIENT NUMBER • PROPERTISER/CLIENT NUMBER	ADVERTISER/CLIENT NAME
56555161	08/06/10 -	08/06/10	045202	BOAR	OF SUPERVISORS

THE PRESS-ENTERPRISE

3450 Fourteenth Street Riverside CA 92501-3878 951-684-1200 951-368-9018 FAX

PROOF OF PUBLICATION (2010, 2015.5 C.C.P.)

Press-Enterprise

PROOF OF PUBLICATION OF

Ad Desc.: Adoption of Ord 860.6

I am a citizen of the United States. I am over the age of eighteen years and not a party to or interested in the above entitled matter. I am an authorized representative of THE PRESS-ENTERPRISE, a newspaper of general circulation, printed and published daily in the County of Riverside, and which newspaper has been adjudicated a newspaper of general circulation by the Superior Court of the County of Riverside, State of California, under date of April 25, 1952, Case Number 54446, under date of March 29, 1957, Case Number 65673 and under date of August 25, 1995, Case Number 267864; that the notice, of which the annexed is a printed copy, has been published in said newspaper in accordance with the instructions of the person(s) requesting publication, and not in any supplement thereof on the following dates, to wit:

08-06-10

I Certify (or declare) under penalty of perjury that the foregoing is true and correct.

Date: Aug. 6, 2010 At: Riverside, California

BOARD OF SUPERVISORS P.O. BOX 1147 COUNTY OF RIVERSIDE RIVERSIDE CA 92502

Ad #: 10354736

PO #:

Agency #:

Ad Copy:

BOARD OF SUPERVISORS OF THE COUNTY OF RIVERSIDE, STATE OF

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE
AMENDING ORDINANCE OF THE COUNTY OF RIVERSIDE
AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE
COUNTY AUDITOR-CONTROLLER
The Board of Supervisors of the County of Riverside ordains as follows:
Section 1. Section 1. Ordinance 860 is amended to read as follows:
"Section 1. The Board of Supervisors establishes the following schedule of warrants, journal processing and services provided by the Auditor-Controller:
WARRANTS, JOHANAL BROCKESSIA

WARRANTS, JOURNAL PROCESSING, AND SERVICES

Special District County B Warrant (each) Special District Processing of Journal Vouchers	\$4.54 \$.80
(per line) County/Flood Payroll Warrants/Direct Deposit Special District Off-Cycle Warrant (each) Special District Payroll Warrant (non-County)	\$5.10 \$37.07 \$8.48
(éach) Child Support Garnishment (each) Medical Support Garnishment (each) Spousal Support Garnishment (each) Earnings Withholding Orders (each)	\$1.50 \$1.50 \$1.50 \$1.50
Sheriff Writs (each) Copies - B&W (County, Special District, Public) (each) Copies - Color (County, Special District, Public)	\$1.50 \$0.02 \$0.17
(each) Internal Auditing (per hour) Property Tax Time-Share Assessment (per assessment)	\$87.23 \$2.62
Properly Tax Fixed Charge Transaction (per parcel) Properly Tax Fixed Charge Correction (per batch) Properly Tax Fixed Charge Correction (per batch) Properly Tax Fixed Charge Enrollment/Correction	\$0.17 \$49.38 \$148.13 \$103.49
(per batch) Property Tax Redevelopment Service (per hour) Property Tax General Services Fee (per hour)	\$155.92 \$83.86"

Property Lax General Services ree (per nour)

Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Marion Ashley, Chairman of the Board I HEREBY CERTIFY that at a regular meeting of the Board of Supervisors of Said County, held on July 27, 2010, the foregoing Ordinance consisting of two (2) sections was adopted by said Board by the following vote:

AVES. Burety Stone, Benefit and Ashley.

AYES: Buster, Stone, Benoit and Ashley NAYS: None

NAYS: None ABSENT: Tavaglione

Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

8/6

THE PRESS-ENTERPRISE PROOM

Legal Advertising Invoice

REMITTANCE ADDRESS POST OFFICE BOX 12009 RIVERSIDE, CA 92502-2209 FAX (951) 368-9026

BILLING PERIOD

2

ADVERTISING/CLIENT NAME

08/11/10 - 08/11/10 BILLING DATE

BOARD OF SUPERVISORS FOR BILLING INFORMATION CALL

@ PAGE NO

1

08/11/10

8/11/10 (951) 368-9713 TOTAL AMOUNT DUE | 1* UNAPPLIED AMOUNT|®

TERMS OF PAYMENT

241.80

Due Upon Receipt

BILLED ACCOUNT NAME AND ADDRESS

® BILLED ACCOUNT NUMBER

REP NO

BOARD OF SUPERVISORS COUNTY OF RIVERSIDE

P.O. BOX 1147 RIVERSIDE CA 92502 045202

LE04

Statement #:

56555782 Amount Paid \$

Your Check #

		PLEASE DETACH AND RETURN UPPER PORTION		EMITTANCE	
O DATE	1 REFERENCE		(6) SAU SIZE (6) BILLED UNITS	® BATE (D GROSS AMOUNT 20 NET AMOUNT
08/11	4217658 CO	ADOPTION OF ORD 860.6 Class : 10 Ctext Ad# 10359810 Placed By : Cecilia Gil	186 L	1.30	241.80
				in the second se	
					୍ମ ନ ଅନ୍ତ 20
				: :	RECEIVED RIVERSIDE COUNTY CLERK / BOARD OF SUPERVISORS 2010 AUG 16 PM 2: 33
			ACO	:	O OF SUP
			9.1	407/	PM 2: 33
				V	, , , , , , , , , , , , , , , , , , ,
	ART OF STREET, ARE				

				PLEASE PAY
2) CURRENT NET AMOUNT DUE 2	30 DAYS 60 DAYS	OVER 90 DAYS	* UNAPPLIED AMOUN	THIS AMOUNT
				241.80

THE PRESS-ENTERPRISE P.O. BOX 12009
RIVERSIDE, CA 92502-2209
TELEPHONE (951) 368-9711
(951) 368-9720 [(951) 368-9713

ADVERTISING STATEMENT/INVOICE

* UNAPPLIED AMOUNTS ARE INCLUDED IN TOTAL AMOUNT DUE

			O 17 (1 E 14 1 E 17 1 1 1 1 7 1 1 1 7 1		il 1	
29 STATEMENT NUMBER	25			INFORMATION	- altown partition T 1 May 5	
2.0	0	BILLING PERIOD	BILLED ACCOUNT NUMBER	OADVERTISER/CLIENT NUMBER	2	
56555782	08/11/1	10 - 08/11/10	045202		Boari	OF SUPERVISORS

THE PRESS-ENTERPRISE

3450 Fourteenth Street Riverside CA 92501-3878 951-684-1200 951-368-9018 FAX

PROOF OF PUBLICATION (2010, 2015.5 C.C.P.)

Press-Enterprise

PROOF OF PUBLICATION OF

Ad Desc.: Adoption of Ord 860.6

I am a citizen of the United States. I am over the age of eighteen years and not a party to or interested in the above entitled matter. I am an authorized representative of THE PRESS-ENTERPRISE, a newspaper of general circulation, printed and published daily in the County of Riverside, and which newspaper has been adjudicated a newspaper of general circulation by the Superior Court of the County of Riverside, State of California, under date of April 25, 1952, Case Number 54446, under date of March 29, 1957, Case Number 65673 and under date of August 25, 1995, Case Number 267864; that the notice, of which the annexed is a printed copy, has been published in said newspaper in accordance with the instructions of the person(s) requesting publication, and not in any supplement thereof on the following dates, to wit:

08-11-10

I Certify (or declare) under penalty of perjury that the foregoing is true and correct.

Date: Aug. 11, 2010 At: Riverside, California

BOARD OF SUPERVISORS

P.O. BOX 1147 COUNTY OF RIVERSIDE RIVERSIDE CA 92502

Ad #: 10359810

PO #:

Agency #:

Ad Copy:

CORRECTED

BOARD OF SUPERVISORS OF THE COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

AN ORDINANCE OF THE COUNTY OF RIVERSIDE
AMENDING ORDINANCE OF THE COUNTY OF RIVERSIDE
AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF WARRANTS AND SERVICES BY THE
COUNTY AUDITOR-CONTROLLER
The Board of Supervices of the County of Discounty of Disc

The Board of Supervisors of the County of Riverside ordains as follows:
Section 1. Section 1. of Ordinance 860 is amended to read as follows:
"Section 1. The Board of Supervisors establishes the following schedule of fees for warrants, journal processing and services provided by the County Auditor-Controller:

WARRANTS, JOURNAL PROCESSING, AND SERVICES

Special District County B Warrant (each) Special District Processing of Journal Vouchers	\$4.54 \$.80
(per line) County/Flood Payroll Warrants/Direct Deposit Special District Off-Cycle Warrant (each) Special District Payroll Warrant (non-County)	\$5.10 \$37.07 \$8.64
(éach) Child Support Garnishment (each) Medical Support Garnishment (each) Spousal Support Garnishment (each) Earnings Withholding Orders (each)	\$1.50 \$1.50 \$1.50 \$1.50 \$1.50 \$0.02
Sheriff Writs (each) Copies - B&W (County, Special District, Public) (each) Copies - Color (County, Special District, Public)	\$1.50 \$0.02 \$0.17
(each) Internal Auditing (per hour) Property Tax Time-Share Assessment (per assessment)	\$76.23 \$2.62
Property Tax Fixed Charge Transaction (per parcel) Property Tax Fixed Charge Correction (per batch) Property Tax Fixed Charge Correction (per batch) Property Tax Fixed Charge Enrollment/Correction	\$0.17 \$49.38 \$148.13 \$103.49
(per bafch) Property Tax Redevelopment Service (per hour) Property Tax General Services Fee (per hour)	\$155.92 \$87.05

Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Marion Ashley, Chairman of the Board
I HEREBY CERTIFY that at a regular meeting of the Board of Supervisors of said
County, held on July 27, 2010, the foregoing Ordinance consisting of two (2) sections
was adopted by said Board by the following vote:

AYES: Buster, Stone, Benoit and Ashley
NAVE:

AYES: Buster, Stone, Benoit and Ashley NAYS: None ABSENT: Tavaglione

Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

2810 Alto 10 100 1

SOID AUG 16 PM 2:33

The Desert Sun

mydesert.com

750 N. Gene Autry Trail Palm Springs, CA 92262 Billing Inquiries: (866) 875–0854 Main Office: (760) 322–8889

ADVERTISING INVOICE/STATEMENT

Make Checks payable to DESERT SUN PUBLISHING CO. P.O. Box 677368 Dallas, TX 75267-7368 A finance charge of 1.5% per month (18% Annually) will be added to balances not paid by the 20th.

108

RIVOL90000038316110099408810822

RIVERSIDE COUNTY-BOARD OF SUP. PO BOX 1147 RIVERSIDE CA 92502-1147

PLEASE RETURN THIS TOP SECTION WITH PAYMENT IN THE ENCLOSED ENVELOPE AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

	i U
Customer No.	Invoice No.
RIV069	0003831611
For the Period	Thru
08/02/10	08/29/10
Due Date	Amount Due
09/13/10	9,940.88
AMOUNT PAID	
AWOON I FAID	

											لللل	
Date	EDT	Class		Description		Times Run	Col	Depth	Total Size	Rat	е	Amount
0802			BALANC	E FORWARD								14,090.08
0813			PAYME	NT - THANK YO	DU							4,996.26-
0823			PAYME	NT – THANK YO	DU							8,904.32-
0729	CLS	0001	CECILIA	NO 3276 NO	OTICE O	4	2	269.00	2152.00	þ		909.08
0730	CLS	0001	CECILIA	NO 3344 NO	OTICE I	4	2	114.00	912.00			394.48
0731	CLS	0001	CECILIA	NO 3373 NO	OTICE I	4	2	79.00	632.00			278.28
0804	CLS	0001	CECILIA	NO. 3416 B	OARD O	2	2	222.00	888.00			384.52
0806	CLS	0001	CECILIA	NO. 3453 B	OARD O	2	2	515.00	2060.00	þ		870.90
0806	CLS	0001	CECILIA	NO 3477 BC	ARD OF	2	2	77.00	308.00			143.82
0807	CLS	0001	CECILIA	GIL NO 3487/F	PAGE 2	1		21.00	210.00			2,450.20
0807	CLS	0001	CECILIA	GIL NO 3487/F	PAGE 1	1	10	14.00	140.00			1,626.80
8080	CLS	0001	CECILIA	NO 3488 BC	ARD OF	2	2	210.00	840.00			364.60
0813	CLS	0001	CECILIA	NO 3562 NO	OTICE I	4	2	111.00	888.00			384.52
0813	CLS	0001	CECILIA	NO 3563 NO	OTICE I	4	2	135.00	1080.00	þ		464.20
0815	CLS	0001	CECILIA			2	2	460.00	1840.00	Þ		779.60
0819	CLS	0001	CECILIA			2	2	73.00	292.00			137.18
0820	CLS	0001	CECILIA			2	2	119.00	476.00			213.54
0826	CLS	0001	CECILIA	NO 3710 BC	ARD OF	2	2	201.00	804.00			349.66
ŀ						- 1						
		ļ						_			1	
	ļ							9.1	Q1	07%	1	7/10
<u> </u>								• •	<u> </u>	.,		1/1
C	urrent	Ove	r 30 Days	Over 60 Days	Over 90 Days	Over 120	Days	;	То	tal Du	Jе	
9,7	751.38	.0	0	.00	.00	189.	.50		9,9	940.88	3	
Contr	act Type	Cont	ract Qnty.	Expiration Date	Current Usage	Total U	sed	Quan	tity Remai	ning		Salesperson
											N	OELLER
		1			I	ŀ		1		1	-11 H	(

The Advertiser shall make payment within 15 days of the billing date indicated on Company's statement, and, in the event that it fails to make payment within such time, Company may reject advertising copy and / or immediately cancel this contract and Advertiser agrees to indemnify Company for all expenses incurred in connection with the collection of amounts payable under this contract, including but not limited to collection fees, attorney's fees and court costs. If this agreement is cancelled due to Advertiser's failure to make timely payment, Company may rebill the Advertiser for the outstanding balance due at the open or earned contract rate, whichever is applicable.

TO ENSURE PROPER CREDIT, PLEASE RETURN THE TOP SECTION AND INCLUDE YOUR CUSTOMER NUMBER ON REMITTANCE.

Customer Number	Name	Invoice Number	Amount Paid
RIV069	RIVERSIDE COUNTY-BOARD OF SUP.	0003831611	

THE DESERT SUN PUBLISHING CO. ADVERTISING INVOICE/STATEMENT

の一般の対象を表現している。

The Desert Sun 750 N Gene Autry Trail Palm Springs, CA 92262

760-778-4578 / Fax 760-778-4731

State Of California ss: County of Riverside

Advertiser:

RIVERSIDE COUNTY-BOARD OF SUP. 4080 LEMON ST **RIVERSIDE** CA 925013

2000218017

I am over the age of 18 years old, a citizen of the United States and not a party to, or have interest in this matter. I hereby certify that the attached advertisement appeared in said newspaper (set in type not smaller than non pariel) in each and entire issue of said newspaper and not in any supplement thereof on the following dates, to wit:

Newspaper:

.The Desert Sun

8/6/2010

I acknowledge that I am a principal clerk of the printer of The Desert Sun, printed and published weekly in the City of Palm Springs, County of Riverside, State of California. The Desert Sun was adjudicated a newspaper of general circulation on March 24, 1988 by the Superior Court of the County of Riverside, State of California 191236.

I declare under penalty of perjury that the foregoing is true and correct. Executed on this 6th day of August, 2010 in Palm Springs, California.

Declarant

Certificate of Publication

No 3477 BOARD OF SUPERVISORS OF THE COUNTY OF RIVERSIDE, STATE OF CALIFORNIA

ORDINANCE NO. 860.6

ORDINANCE NO. 860.6

AN ORDINANCE OF THE COUNTY OF RIVERSIDE
AMENDING ORDINANCE NO. 860 RELATED TO ESTABLISHING A SCHEDULE OF FEES FOR THE ISSUANCE OF MARRANTS AND SERVICES BY THE COUNTY AUDITOR-ICES Section 1. Section 1. or Ordinance 860 is amended to read as follows:

"Section 1. The Board of Supervisors establishes the following schedule of tees for warrants, journal processing and services provided by the County Auditor-Controller:

WARRANTS, JOURNAL PROCESSING, AND SERVICES
Special District County B Warrant (each) \$4.54
Special District Processing of Journal Vouchers (per line) \$.80
County/Flood Payroll Warrants/Direct Deposit

(per line) \$.80 County/Flood Payroll Warrants/Direct Deposit

County/Flood Payroll Warrants/Direct Deposit
\$5.10
Special District Off-Cycle Warrant (each) \$37.07
Special District Payroll (Warrant (non-County)
(each) Warrant (non-County)
(each) \$8.48
Child Support Garnishment (each) \$1.50
Medical Support Garnishment (each) \$1.50
Spousal Support Garnishment (each) \$1.50
Earnings Withholding Orders (each) \$1.50
Sheriff Writs (each) \$1.50
Copies - B&W (County, Special District, Public)
(each) \$0.02
Copies - Color (County, Special District, Public)
(each) \$0.17 (each) Internal Auditing (per hour) Property Tax Time-Share Assessment Property Tax I ime-Snare Assessment (per assessment) \$2.62
Property Tax Fixed Charge (per parcel) \$0.17
Property Tax Fixed Charge Correction (per-batch) \$148.13
Property Tax Fixed Charge Enrollment/Correction (per batch) \$103.49

Property Tax Redevelopment Service (per hour) \$155.92
Property Tax General Services Fee (per hour) \$83.86*
Section 2. This ordinance shall take effect thirty (30) days after its adoption.

Marion Ashley, Chairman of the Board

4

I HEREBY CERTIFY that at a regular meeting of the Board of Supervisors of said County, held on July 27, 2010, the foregoing Ordinance consist-ing of two (2) sections was adopted by said Board by the following vote:

AYES: Buster, Stor NAYS: None ABSENT: Tavaglione Buster, Stone, Benoit and Ashley

Kecia Harper-Ihem, Clerk of the Board By: Cecilia Gil, Board Assistant

PUB 8/6/10